
Lift Unit   Spare Parts List   MZVD 40-80 
 
--- - 

Subject to technical modifications. 09.05.2014 
 

TÜNKERS® Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratin gen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de  

 

Spare Parts      

Pos Part-No. Quantity  Description Type Flag 1 
10 289640 1.00 housing MZVD 40  
20 289656 1.00 plate MZVD 40  
30 289644 2.00 guide rod MZVD 40-80  
40 350645 1.00 hood complete MZVD 40-80  
60 289641 2.00 distance sleeve MZVD 40  
70 243585 4.00 bush J32.0/40.0 x 40.0 DIN 1850 R 
80 289657 2.00 metal scraper 32/45.0 x 7.50/0.0 R 

 205831 1.00 washer FKSM 50 Z  
110 289649 1.00 socket MZVD 40   
140 200143 1.00 hex. socket head cap screw M 5 x  10  DIN 912  
150 200149 4.00 hex. socket head cap screw M 5 x  25  DIN 912  
160 200257 1.00 hex. socket head cap screw M 10 x  25  DIN 912  
170 200280 2.00 hex. socket head cap screw M 12 x  25  DIN 912  
180 200973 2.00 securing spring washer S 3  
190 200975 5.00 securing spring washer S 5  
200 200978 1.00 securing spring washer S 10  
210 200979 2.00 securing spring washer S 12  
240 289898 1.00 angle screw connection G1/8 - G1/8  
250 289651 1.00 bush   
260 201628 1.00 sealing ring A14x18.0x1.5  DIN 7603  
230 324728 1.00 multi power cylinder MZR 40 for MZVD 40-80 

see separate list 
 

270 289643 1.00 switch plate MZVD 40  
Spare parts sets / accessories    

Pos Part-No. Quantity  Description Type  
 354328 1.00 repair kit MZVD 40 – 80 PL/PR T12  
 354327 1.00 seal kit MZVD 40 – 80 PL/PR T12  

220 354349 1.00 limit switch set complete MZVD 40 – 80 PL/PR T12  
 
 
 
1 R = included with repair kit, D = included with sea l kit 

                                                
 



 
--- - 

Lift Unit    Spare Parts Drawing MZVD 40-80 
 

Subject to technical modifications. 09.05.2014 
 

TÜNKERS® Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratin gen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de  

 

 
 
 
 
 
 
 



 
--- - 

Multi Power Cylinder   Spare Parts List  Part No. 324728  MZR 40 
 

Subject to technical modifications. 09.05.2014 
 

TÜNKERS® Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratin gen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de  

 

Pos Part-No  Quantity  Description Type Flag 
10 251432 1.00 cylinder head MZR 40  
20 251433 1.00 cylinder bottom MZR 40  
30 350690 1.00 cylindrical tube MZR 40  
40 350685 1.00 piston rod complete MZR 40   
50 251440 1.00 support plate MZR 40 R 
60 251441 1.00 piston MZR 40  

 251443 2.00 side plate right MZR 40  
 251444 2.00 side plate left MZR 40  
 251447 2.00 supporting roller MZR 40  R 
 251448 2.00 supporting roller MZR 40  R 
 251450 2.00 bolt MZR 40  R 
 251451 2.00 bolt MZR 40  R 
 251449 2.00 bush Ø 5.0/9.0x16.0 R 
 245548 26.00 needle roller Ø 1.5 x 9.8 DIN 5402 form B R 

90 251458 1.00 guide ring MZR 40  R 
100 251459 1.00 buffer MZR 40   
120 251463 2.00 guide bolt MZR 40 R 
170 221462 2.00 hex. socket head cap screw M 4 x 14 DIN 7984  
190 200999 2.00 parallel pin 5m6 x 24 DIN 7  
200 251462 4.00 set screw M 3 x 10 DIN914 R 
210 231101 2.00 o-ring 42.00 x 2.00 RD 
220 225779 1.00 scraper 25/33.0 x 7.00/4.0 RD 
250 251484 1.00 lip seal Ø 25/33 x 7.0 RD 
350 234787 2.00 USIT ring 4.5/7.0 x 1.0  
260 225777 1.00 piston seal Ø 40/Ø 29.0 x 4.2 RD 
230 238624 84 mm guide band 4 x 1.55 RD 
240 209983 118 mm guide band 5.6 x 2.5 RD 

Spare parts sets / accessories 
Pos Part-No. Quantity  Description Type Flag 

 354328 1.00 repair kit MZVD 40 – 80 PL/PR T12  
 354327 1.00 seal kit MZVD 40 – 80 PL/PR T12  

 
1 R = included with repair kit, D = included with sea l kit 



Multi Power Cylinder   Spare Parts Drawing  MZR 40
 
--- - 

Subject to technical modifications. 09.05.2014 
 

TÜNKERS® Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratin gen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de  

 

 
 
 

 
 


